Barrel EMC LO Input - High Tower

| Entries  1.163574e+09

” .i'l.
Il II |
II I; L

1 |||iI

% 60:— II|'|lI v I|I| |I':|II 'I : ;I I:' |I . v Ifl: p :II |II I:I :I II I!III III |I ! Ifl

e — 'I||I ) . 1m I'|'|If.|| ¥ I |||'| H |I D

% 50:||JfIII I fl'lll f ! I||I|flll'|r'I'I‘I|“| n IlIl: Il ‘I:" p1 |:!f" |’ |l”:|l:i ) I|III
|. |Jr I I ! '|'r & t'li fI|| Jf“' llull 1 || I ;I
:i :\1 , ¥ !'I .E

o -J-.".-.-r;'.-.—.'.'l-'-".'.'r.-.—. L ot e

10

% 50 100 150 200 250 300 !
Trigger Patch
Barrel EMC LO Input - Patch Sum | Entries  1163574e+09
E | | | 1 I . 1 II-I nrm I-I-I
s ol ...'s',“:,r T T Lt *m# F
O L (A 1y f“ e
2 AR 1T i'-,.:'
 sofy '“ill !
[y
1

I 'k'|..r'|".1

307
20

10

100

o AN AR A, i

150

10

250 300
Trigger Patch

200 1



Endcap EMC LO Input - High Tower

Entries 3.490722e+08

g N
= N
=
D B -
T 50 -
P - .
a0 = e

Endcap EMC LO Input - Patch Sum

80 90
Trigger Patch

10°

10°

10*

| Entries  3.490722e+08

Patch Sum

80 90
Trigger Patch




Entries 1.396289e+08

Barrel EMC L1 Input - HT Bits |

2

ESO:_BClOl BC102|BC103|BC104|BC105|BC106 [l 10"
252— 10
205— 10°
15_ 10
10 10
5 10

1

012345012345012345012345012345012345
DSM Input Channel

| B

w
o

Real - Simulated

N
o

10

-10

-20

-30

arrel EMC L1 Input - HT Bits | Enies 0
[BC101|{BC102|BC103|BC104|BC105|BC106
L L]

012345012345012345012345012345012345
DSM Input Channel

Entries 1.396289e+08

Barrel EMC L1 Input - HT.TP Bit |

2

- HT.T!_I?-th Bit

12

0.8

0.6

0.4

0.2

012345012345012345012345012345012345
DSM Input Channel

| Barrel EMC L1 Input - HT.TP Bit |

Entries 0

2

Real - Simulated

0.5

C101|BC102|(BC103|({BC104|BC105|BC106

T T T T I T T T T I T T T T I T T T T I T T T T I T T Iml

- 012345012345012345012345012345012345

DSM Input Channel



Endcap EMC L1 Input - HT-th |

| Endcap EMC L1 Input - HT-th Diff | [enves o228

£ 4 < 5C
e cF
I ¢ I o
10 aF
3.5 L
L 10
: |
) ; .
2
2. , - ‘
5 10 . 10
1
10° o )
C 10
15 r
. 1=
10 C
—2r 10
10 -
0.5 —3_—
N I N N [ 1 1 |
€007 002,502 5005 00 005,005 005 €00, €00, 005 75000 800, 00, 780025005 005 €005, 5005:,5005 00, €005, 5005 55000
Endcap EMC L1 Input - HT.TP | s sssaser || Endcap EMC L1 Input - HT.TP Diff | [enres a0e2e
2 2
E C E L 10
oL
T =
1.8_— |:'_: :

N 1.5 1 o6 ;
1.6 L 10°
1.4_— -

| 1__ 104
1.2_— -

B 0.5 16
0.8 i

10°
0.6
0.4
05 10
0.2




[EMC L2 Input - Barrel HT bits

Barrel HT bits

30

25

20

15

10

Entries 2.327148e+07

H

g

[EMC L2 Input - Endcap HT bits |

Endcap HT bits

M

EE101 HTO

EE101 HT1

[EMC L2 Input - Barrel HT.TP hits ]

Barrel HT.TP bits

2

18

16

14

12

1

0.8

0.6

0.4

BC101

BC102

BC103

2 3 H

BCADS

BC306
DSM Input Ehannel

[EMC L2 Input - Barrel HT bits |

Real - Simulated

30

20

10

-10

-20

-30

BC101 BC102 BC103 BC104

Entries 1. 551432e+07

[EMC L2 Input - Endcap HT.TP hits]

Endcap HT.TP bits

2

18

1.6

1.4

12

1

0.8

0.6

0.4

2.30793e+06

EE102 HT.TP-A

2.27296e+06

EE102 HTO EE102 HTL
DSM Input Channel

[EMC L2 Input - Barrel HT bits |

Real - Simulated

BC105

BC106
DSM Input Channel

2

15

=

0.5

EE101 HTO EE101 HT1 EE102 HTO

Enlrles 2.327148e+07

|

BC104 BC105 BC106

DSM Input Channel

[EMC L2 Input - Barrel HT.TP bits]

Real - Simulated

2

EE102 HT1
DSM Input Channel

15

N

BC101 BC102 BC103 BC104

Entries 2.327148e+07

2.30604e+06 2.328330+06

EE101 HT.TP-A HT.TP-B HT.TP-C
DSM Input Channel

[EMC L2 Input - Barrel HT.TP bits]

Real - Simulated

BC105

BC106
DSM Input Channel

2

15

-

0.5

!

o

&
IIIIIIIII

EE102 HT.TP-A HT.TP-B. HT.TP-C EE101 HT.TP-A

HT.TP-B

HT.TP-C
DSM Input Channel



| Bunchld7Bit (VPD-TAC) | | Bunchld7Bit (ZDC-TAC) |

Entries3687542 Entries3748817

E-""“"‘"—U"‘N R e P e | I LR A i ey

10° 10*E
- 103 _E

10° E
C 107

10? = E
F 10

10 A‘ﬂm (it C

E 1
C 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 E 1 1 1 I 1 I.||_I||J.| 1 1 1 I 1 1 1 I 1 1 1 I 1 1 M
0 20 40 60 80 100 120 0 20 40 60 80 100 120

| Bunchld7Bit (MTD-th2) | [ Bunchld7Bit (BHT2) |

Entries 253998

Entries 60524

m-w AP S CRIREAERY L PR 10°
100 M W%
10° 102
10 B
i 10 'I‘JJ\
1 C
o 1 1 1 I 1 1 ” 1 1 1 I 1 1 1 I 1 1 1 I 1 1 ” C 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1
0 20 40 60 80 100 120 0 20 40 60 80 100 120

| Bunchld7Bit (EPD-TAC) | [ Bunchld7Bit (HT.TP) |

Entries3814656 Entries3331727

10* E 10* =
10°
E 10°
10 i
E 107
ok gl ) _ 1]
: 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 lo E_1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1
0 20 40 60 80 100 120 0 20 40 60 80 100 120



MIX-TFOO1 Eniries _ 8.145018e+07

=
5| 30
= 10°
L
[e]
F 25
10°
20 10°
15 10°
10 10

=

0 13220 22y, 200, 80 7w S Sl 9y 10304105:20651071085 10920127 12
TOF tray

MIX-TF002

TOF MULT
w
=]

25

0 3w 2w 2w 60y,59u, 581,570, 61,551, SN 113l 19115116511 7l 2851295120552 628

TOF tray

MIX-TF003 Entries  8.145018e+07

TOF MULT
w
S

)
al

53W 52W51W 50W49W 48W47W 46W45W 44W 63E 64E 65E 66E 67E 68E 69E 70E 71E 72E
TOF tray

MIX-TF004

—
3 30f-
SR 10°
zZr
s F
F s
- 105
20 o
15 1
10 102
s5F 10
1

43W 42W41W 40W39W 38W37W 36W35W 34W 73E 74E 75E 76E 77E 78E 79E 80E 81E 82E
TOF tray

MIX-TF005 Entries  8.145018e+07

TOF MULT
w
S

)
al

33W 32W31W 30W29W 28W27W 26W25W 24W 83E 84E 85E 86E 87E 88E 89E 90E 91E 92E
TOF tray

MIX-TF006

TOF MULT
w
=]

N
[

0

[y

231y 221,221y 201,190, 181,171 161,251, 191,93 99 95 968 97 986 99k 1002071025
TOF tray



TOF MULT

z
3
E
7
g
=
I
Iy
(&)
&
5
s
&
<

TOF UPC-TH-WestHigh

TOF UPC-TH-EastLow

TOF UPC-TH-EastHigh

Entries  2.327148e+07

TFo0s
DSM Input Channel

Entries  2.327148e+07

DSM Input Channel

MIX-TF101

TOF MULT(Real-Simu)

-50

-100

-150

-200

MIX-TF101

Tro0L

Tro0z

o0t

ro0s

Tro0s
DSM Input Channel

2

e
0

0.5

TOF UPC-TH-WestLow(Real-Simu)

-05

Entries  2.327148e+07

TF006
DSM Input Channel

Entries 2.327148e+07

TR0
DSM Input Channel

MIX-TF101

TFo0L

TFo0Z

TF003

TFo0s

TFo0G
DSM Input Channel

2

-
o
IIIIIII

05

TOF UPC-TH-WestHigh(Real-Simu)

I
)
o
IIIIIII

.

MIX-TF101

TFo0L

TFo0Z

=3

2

e
o

-
IIIIIII

TOF UPC-TH-EastLow(Real-Simu)
o
o

-05

=

TFo0s

10°

10*

10°

10?

10
1 1 1 1 i

TFo0E
DSM Input Channel

Entries 497010

Entries  2.327148e+07

10

Tro0s
DSM Input Channel

10°

MIX-TF101

oL

TFo0r

1
=

2

[
- o

TOF UPC-TH-EastHigh(Real-Simu)
°
&

-05

=

35701

Tro0s

T
DSM Input Channel

Entries 573502

10°

10*

10°

10°

10
1 1 1 N

Tro0L

Tro0z

Tro0a

Tro0s

Tro0s

3
DSM Input Channel



L2-TF201 L2-TF201

Entries3878580 Entries 0

105:—

E 10
10°F i
10°F 15_
107 I

u 107

10 i

1072

1= C

:IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

0 100 200 300 400 500 600 700 800 900 1000 0 100 200 300 400 500 600 700 800 900 1000

TOF total mult TOF total mult(Real-Simu)

L2-TF201 Entries 2.715006e+07 L2-TE201

Threshold/UPC bits

Threshold bits/lUPC (Real-Simu)

TFOO1 TF002 TF003 TF004 TF005 TF006 UPC TFOO1 TF002 TF003 TF004 TF005 TF006 UPC
TOF sector/UPC TOF sector/UPC




Entries 1.241146e+08 MXQ_MTOOZ Entries 1.241146e+08

- — - - 0 | |
B-0 B-1 B-2 B-3 B4 B5 B-6 B7 C-0 -5 C-6 C- -4 D-5 D-6 D- 0 A- D-4 D5 D-6 D-7

Entries 1.241146e+08 MXQ-MT004 Entries 1.241146e+08

|

M==— 1] 1 11
0 A-0 A-1 A-2 A-3 A-4 A5 A-6 A-7 B-0 B-1 B-2 B-3 B-4 B-5 B-6 B-7 C-0 C-1 C-2 C-3 C-4 C-5 C-6 C-7 D-0 D-1 D-2 D-3 D-4 D-5 D-6 D-7 A0 A-1 A-2 A-3 A-4 A5 A-6 A-7 B-0 B-1 B-2 B-3 B-4 B-5 B-6 B-7 C-0 C-1 C-2 C-3 C-4 C-5 C-6 C-7 D-0 D-1 D-2 D-3 D-4 D-5 D-6 D-7



[Entries  7757160]

MIX-MT101 Input: MTO01 MTDE+W TAC sum

TAC sum
=
8
8

10°
10°
10*
10°
10?
10
ol 1

Teveent Znabest

MIX-MT101 Input: MTO01 MTDE+W TAC sum

Entries 250863

£ 1000
3 -
o -
= [ 10*
500 [—
- 10°
0
C 10?
-500 f—
- 10
~1000 = L 1

TerBest

[Entries  7757160]

MIX-MT101 Input: MT002 MTDE+W TAC sum

TAC sum
=
8
8

10°
10°
10*
10°
10?
10
ol 1

TetBest ondBest

MIX-MT101 Input: MT002 MTDE+W TAC sum

=)

Entries 323884

£ 1000 =
7 -
Q -
£ [ 10*
500 p—
L 10°
4
é 10
-500—
- 10
-1000 = 1 1

TerBest

MIX-MT101 Input: MTO03 MTDE+W TAC sum [Entries  7757160]

TAC sum
e
8
8

10°
10°
10
10°
10*
10
ol 1

Tetbest ondBent

MIX-MT101 Input: MT003 MTDE+W TAC sum

Znd-Best

Entries 231179

£ 1000 F—
@ -
Q -
= r 10*
500 [—
- 100
)
L 10
-500 f[—
- 10
~1000 b= 1 1

TerBest

[Entries  7757160]

MIX-MT101 Input: MT004 MTDE+W TAC sum

TAC sum
=
8
8

10°
10°
10*
10°
10°
10
ol 1

Tevoest pr

MIX-MT101 Input: MT004 MTDE+W TAC sum

=

Entries 237290

£ 1000 =
F o
g r 10*
& -
500 —
o 10°
4
- 10°
-500— ©
-1000 b= 1 i

Tersest

MIX-MT101 Input: VP0OO3 Max TAC ]

| Entries 3878580
|

10°

0] 500 1000 1500 2000 2500 3000 3500 4000

MIX-MT101 Input: VP004 Max TAC ]

T e

0 500 1000 1500

2000

2500

Entries 3878580
|

3000 3500 4000



L2-TF201 Input chn O -- Number of Muons

10*

10°

102

10—_|II|III|III|II|III|III|III|III

Entries3878580

0 2 4 6 8 10 12

14 16

Number of Muons

L2-TF201 Input chn O -- Number of Muons

Entries 0
10:—
1=
107
107
_IIII|IIII|IIII|IIII|IIII|IIII|
-15 -10 -5 0 5 10 15

Number of Muons (Real-Simu)

L2-TF201 Input chn 0 -- Cosmic-Ray |

1.36282e+06

[N

Hit Cosmic-Ray

Entries 1.163574e+07

Timed-Cosmic-Ray

| L2-TF201 Input chn 0 -- Cosmic-Ray (Real-Simu) | Entries 0

Hit

Cosmic-Ray

Timed-Cosmic-Ray



| BBQ-BB001 (BBC east small tiles ADC) |

E9

E10 E11 E4 EI12 E13 E5

E6 E14 E15 E16
QT Input Channel

Entries  6.205728e+07

10°

10*

10°

10?

10

| BBQ-BB0O1 (BBC east small tiles TAC) |

Entries  6.205728e+07

El E7 E2 E8 E3 E9 EI10 E11 E4 E12 EI13 E5 E6 El14 E15 EI16
QT Input Channel

| BBQ-BB002 (BBC west small tiles ADC) |

wi w7 w2

w8 W3 W9 W10 Wil w4 W12 W13 W5 W6 W14 W15 W16

QT Input Channel

Entries  6.205728e+07

| BBQ-BB002 (BBC west small tiles TAC) |

wi w7 w2 w8 W3 W9 W10 Wil w4 W12 Wi3 W5 W6 W14 Wis5 W16

QT Input Channel

Entries  6.205728e+07

10

| BBQ-BB003 (BBC E+W large tiles ADC) |

#hoo
<

3500
3000
2500
2000
1500
1000

500

E17 E18 E19 E20 E21 E22 E23 E24 W17 W18 W19 W20 W21 W22 W23 W24

QT Input Channel

Entries  6.205728e+07

=

| BBQ-BB003 (BBC E+W large tiles TAC) |

boo
'_

3500
3000
2500
2000
1500
1000

500

E17 E18 E19 E20 E21 E22 E23 E24 W17 W18 W19 W20 W21 W22 W23 W24
QT Input Channel

Entries  6.205728e+07

10?

10



| B BQ-VPOO]_ East | Entries  6.205728e+07

10*

10°

10?

10

0
A-ch0 A-ch1 A-ch2 A-ch3 B-ch0 B-ch1 B-ch2 B-ch3C-ch0 C-chl C-ch2 C-ch3D-ch0 D-ch1D-ch2 D-ch3
QT Input Channel

Entries  6.205728e+07

BBQ-VP001 East |

%pOO
'_

3500

3000

2500

2000

10°
10°
10*

—— | <10°
10°
10
1

0
A-ch4 A-ch5 A-ch6 A-ch7 B-ch4 B-ch5 B-ch6B-ch7 C-ch4 C-ch5 C-ch6 C-ch7 D-ch4 D-ch5 D-ch6 D-ch7
QT Input Channel

| BBQ-VP002 West | Entries  6.205728e+07

10*

10°

10?

10

A-ch0 A-ch1 A-ch2 A-ch3 B-ch0 B-ch1 B-ch2 B-ch3C-ch0 C-chl C-ch2 C-ch3D-ch0 D-ch1D-ch2 D-ch3
QT Input Channel

| Entries  6.205728e+07

BBQ-VP002 West

%pOO
'_

3500

3000

2500

10°
10°
10*
10°
10?
10

1

A-ch4 A-ch5 A-ch6 A-ch7 B-ch4 B-ch5 B-ch6B-ch7 C-ch4 C-ch5 C-ch6 C-ch7 D-ch4 D-ch5 D-ch6 D-ch7
QT Input Channel

| BBQ'ZDOOl (ZDC TOWER) | Entries 6.205728e+07
#boo
<

3500

3000

2500

2000

1500

1000

500

Wity Wt W 2

& E1y By, Esu,,ME? & By E+W4W1

BBQ-ZD001 (ZDC TOWER) | [Ewiesoavsramenr ]

|

Bl B oy o E2re Earn Eonr Eryy Wira W War V.
LTacATgSumygdumg ﬁ?c ST AT W Tf@c 24 TA%‘"N#K%’":XV ggc STac 4140




[_bbcSmallEastAdcSum | _ [CbbcSmallEastAdcSumVsSimu_]
Entries3878580

5 R =
10 s [
Boooof—
10" 50000~
10° 40000~
30000
10° E
20000f—
10 =
10000
. o
| N TP B Py P P B B R S R
0 10000 20000 30000 40000 50000 60000 0 10000 20000 30000 40000 50000 60000
Simu
[ bbcSmallEastTacMax | ] [_bbcSmallEastTacMaxVsSimu_|
Entries3878580
s £4000 =
10 il
3500 —
10* F
3000~
10° 2500
2000 —
10? E
1500f—
10 1000~
500f—
1 E
Py =P T PRI I B PR IR B
0 500 1000 1500 2000 2500 3000 3500 400 500 1000 1500 2000 2500 3000 3500 4000
Simu
[ bbcSmallwestAdcSum ] ) [ _bbcSmallwestAdcSumVsSimu_|
Entries3878580
5 8 F
10 = [
8o000f—
10° 50000f—
10° 40000~
30000f—
10% E
20000f—
10 C
10000
. o
1 Ll [/ T N oL N T BN I B R B
0 10000 20000 30000 40000 50000 60000 0 10000 20000 30000 40000 50000 60000
Simu
[ bbcSmallwestTacMax | ] [_bbcSmallWestTacMaxVsSimu_|
Entries3878580
s £4000 =
10 i
3500 —
10* E
3000
10° 2500 —
2000~
10 o
1500~
10 1000~
500
1
R EE I IR BRI B B B Py P T IR I B PR AN B
0 500 1000 1500 2000 2500 3000 3500 4000 0 500 1000 1500 2000 2500 3000 3500 4000

Simu



bbcLargeHit (Entries 7757150] [ bbcLargeEastHitSimu |

E-Hit W-Hit E-Hit W-Hit

| bbcLargeEastTacMax [ bbcLargeEastTacMaxVsSimu |

oo
o

3500

Entries3878580

3000

2500

2000

1500

1000
10*

500

1111 I 1111 I 1111 I 1111 I 1111 I 1111 I 1111 I 1111 I
500 1000 1500 2000 2500 3000 3500 4000
Simu

0 500 1000 1500 2000 2500 3000 3500 4000

OO

| bbcLargeWestTacMax [ bbcLargeWestTacMaxVsSimu |
oo
[a)

3500

Entries3878580

3000

2500

10° 2000

1500

1000
10*

500

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
500 1000 1500 2000 2500 3000 3500 4000
Simu

IIIIIIIIIIIIIIIIIIIIIII
0 500 1000 1500 2000 2500 3000 3500 4000

OO



epdEastTacMax [Entries 3102864e+07 [epdEastTacMaxVsSimu ]

) BH000E=
10 @ o
3000~
[a] -
10° 2000~

10 E
-1000
10° E
-2000
10 -3000
PRI TS IR S W N [N TN T TN T NS T TN N T TN ST T AN U SN S N N T ST T T (S S T 1 —4000;::|I||||I||||I||||I||||I||||I||||I||||
8 8
DSM Input Channel DSM Input Channel
epdEastTHits [Entries 3.102864e+07 ] [epdEastTHitsVsSimu]
£ 2 15—
b= s 7] -
= 10 & F
5 T E
8 . O 10
5 10 C
[ -
10 5:_
10° °E
10*
10 -10—
VT nPEPE RPN EPEPEIT BT RPN BRI BT B
7 8 1 15 T 2 3 7 5 5 7 E
DSMinput Channel DSM Input Channel
epdWestTacMax [Entries 3.102864¢+07 [epdwestTacMaxVsSimu
10° o F
£3000
3 E
10° 2000 &~
10 1000~
10° E
-1000
10° o
-2000
10 -3000
PPN PR IR BRI EPRE BN B B 1 4000E= v v v vy b b b b b by
8 0 B
DSM Input Channel DSM Input Channel
epdWestTHits [(Entries 31028642707 ] [epdwestTHitsVsSimu |
-% 2 15—
z 7] C
o ] N
2 = [
8 O 10
S
E r
5__
o

10%
10 -10
1 sl b e b b b b b L

8 0 1 2 3 4 5 8

1 2 3 4 5 6 7 7
DSMinput Channel DSM Input Channel



| epdEastTac03 | [ epdEastTac03VsSimu |
Entries3878580
10°F £pooF-
= o F
C 3500
10 -
E 3000
10° 2500
2000
10° c
1500
10 1000
500
IIIIIIIIIIIIIIIIIIIIIIIIIIIII O:IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
500 1000 1500 2000 2500 3000 3500 4000 0 500 1000 1500 2000 2500 3000 3500 4000
Simu
| epdEastTac47 [ epdEastTac47VsSimu |
Entries3878580
= £pooE-
F o
L 3500
10* -
E 3000
10° 2500
2000
10? E
1500
10 1000
500
IIIIIIIIIIIIIIIIIIIIIIIIIIIIII O:IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
500 1000 1500 2000 2500 3000 3500 4000 0 500 1000 1500 2000 2500 3000 3500 4000
Simu
epdEastNHits [ epdEastNHitsVsSimu |
Entries3878580
F s F
Si20
10° 100}—
80—
60—
401
20—
10* IR N R ol v L L L L L L
0 20 40 60 80 100 120 0 20 40 60 80 100 120

Simu



| epdWestTac03

10°F

10*

10

10?

10

Entries3878580

| epdWestTac03VsSimu

oo
o

3500
3000
2500
2000
1500

1000

500

o
OrTTTT

500 1000 1500

1
IIIIIIIIIIIIIIIIIIIIIIIIIIIIII
0 500 1000 1500 2000 2500 3000 3500 4000
| epdWestTac47
Entries3878580

10°F

104_5

10°

10?

10

500 1000 1500 2000 2500

| epdWestNHits

3000 3500

4000

| epdWestTac47VsSimu

2000 2500 3000 3500 4000

Simu

oo
o

3500
3000
2500
2000
1500

1000

500

o
orTTTT

500 1000 1500

10*

Entries3878580

O,I
N
=]
IN
o
o
S

I 1 1 I 1
80 100

1 I 1
120

| epdWestNHitsVsSimu |

2000 2500 3000 3500 4000

Simu

Pata

20

100

80

60

40

20

L
N
=]
N
o

1 I 1
120
Simu

I 1 1 I
60 80 100



| vpdEastAdcSum | | vpdEastAdcSumVsSimu |
Entries3878580
i oo
106 = [a) E
E 3500/
L 3000
10° r
E 2500
i 2000
10° 1500
- 1000~
10° 500~
:IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII O:IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
0 500 1000 1500 2000 2500 3000 3500 4000 0 500 1000 1500 2000 2500 3000 3500 4000
Simu
vpdEastNHits [ vpdEastNHitsVsSimu |
Entries3878580
< 16
s 1or
L a r
14_—
12~
10
8-
6
a-
_ 2=
1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 11 1 I 1 1 1 1 1 1 I 1 11 0 C 11 1 I 1 1 1 I 1 1 1 I 1 11 I 1 1 1 I 11 1 I 1 1 1 I 1 1 1
0 2 4 6 3 10 12 14 16 0 2 4 6 ) 10 12 14 16
Simu
| vpdEastTacSum | [ vpdEastTacSumVsSimu |
Entries3878580
5 ]
o' 2 F
36000
10* L
25000
10° 20000
, 15000
10 r
10000
10 r
5000/—
1 C
1 11 1 I 11 1 1 I 11 1 1 I 1 u I 11 1 1 I 11 1 1 I 11 0 C 11 1 1 I 11 1 1 I 11 11 I 11 11 I 1 11 1 I 1 11 1 I 1 1
0 5000 10000 15000 20000 25000 _ 30000 0 5000 10000 15000 _ 20000 _ 25000 _ 30000

Simu



[ vpdWestAdcSum | | vpdWestAdcSumVsSimu |
Entries3878580
oo
10° - e r
= 3500
- 3000
10° - -
g 2500
i 2000
10°E 1500
1000~
10° - . . 500F~
:IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII O:IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
0 500 1000 1500 2000 2500 3000 3500 4000 0 500 1000 1500 2000 2500 3000 3500 4000
Simu
| vpdWestNHits | vpdWestNHitsVsSimu |
Entries3878580
< 16
L s [
o r
14—
12~
10
8-
6
4
N 2F
11 1 I 11 1 I 11 1 I 11 1 I 11 1 I 11 1 11 1 I 11 1 0 C 11 1 I 11 1 I 11 1 I 11 1 I 11 1 I 11 1 I 11 1 I 11 1
0 2 4 6 3 10 12 14 16 0 2 ] 6 8 10 12 14 16
Simu
| vpdWestTacSum | [ vpdWestTacSumVsSimu |
Entries3878580
5 <
o' Hl:
36boo|~
10°* C
25000
10° 20000
, 15000
10 r
10000~
10 r
5000/
1 C
EI 11 1 I 11 1 1 I 11 1 1 I 1 I||I| I 11 1 1 I 11 1 1 I 11 0 C 11 1 1 I 11 1 1 I 11 1 1 I 11 1 1 I 111 1 I 111 1 I 11
0 5000 10000 15000 20000 25000 _ 30000 0 5000 10000 15000 20000 25000 _ 30000

Simu



zdcEastTac | zdcEastTacVsSimu |
Entries3878580
oo~
10° o
E L 1
8001
10* E |
3 —
10 _E 600 -
F L 10°
10° 400
10 B
3 200 B 107
1 -
1 1 1 1 1 I 1 1 1 I 0 1 1 1 I 1 1 I 1 1 1 I 1 1 I 1 1 I
0 800 1000 0 200 400 600 800 1000
Simu
zdcWestTac [ zdcWestTacVsSimu |
Entries3878580
oo~
10° a k
[ 8001
10* E L
3 —
10 E 600 i
10°E 400
10F 200}~
1 -
1 1 I 1 1 I I 0 1 1 1 I 1 1 I 1 1 1 I 1 1 1 I 1 I
0 600 800 1000 0 200 400 600 800 1000
Simu
zdcAdcSum (e sosimwer] [ zdcAdcSumDitf ]

1.99723e+06

1.88135e+06

2. ZDC 20¢.,, 20c. 20c.,, 2D
Wetpy ~ Wety l"’u; "’/1/73 Wan,hql(”/a/z,hs(

2.07243e+06

1.81558e+06

2.063e+06

1.67156e+06

@ < © ©
) < g <
2 8 & 3
1 8 o 8
5 2 b 2
& 3 S g
S - - -
6
10
5
10
C C C C &
&, “thy & ~thy Etng ar, ”M(L/,, AUty 5((/,,
u:ed) "used) Seqy "

]
2 2
D, . oc W,hDC thoc W%

]

ZDC
ey, 4'("/ azz -t
Useg) "‘/Seq)

] ] ] ]
0. 20C. . 20c,
Em Erh “Eany Elhg Ean "74(53"”75(1,
Ny,
©q)



[VvT201 Input Cho: BBC Small Tac Diff |

Entries3878580

10°

10*

10

2000 3000 4000

[VT201 Input Cho: BBC Small Adc Sum Th|

East

[VvT201 Input Ch5: EPD Tac Diff |

5

5000

6000

West

7000 8000

Tac

[VT201 Input ChO: BBC Small Tac Diff |

28000

2]
7000
6000
5000
4000
3000

2000

1000

0

| IR E RIS E B R T N BN A B
1000 2000 3000 4000 5000

o

P R
6000

M| 1
7000 8000
Real

Entries 7757160

|VT201 Input ChO: BBC Small Adc Sum Th (ReaI-Simu)|

Entries 0

East West

Entries3878580

10

10*

10

2000 3000

[VvT201 Input Ch5: EPD Hit Count Th]

5000

6000

West

7000 8000

Tac

[VvT201 Input Ch5: EPD Tac Diff |

.ESOOO

12}
7000
6000
5000
4000
3000
2000

1000

obi b b e L
000 2000 3000 4000 5000 6000

o

Entries 7757160

[VT201 Input Ch5: EPD Hit Count Th (Real-Simu) |

M|
8000
Real

7000

East West



[VvT201 Input Ch2: ZDC Tac Diff |

Entries3878580

[VT201 Input Ch2: ZDC Tac Diff |

10° g 250—
o T
10° -
200f—
10* o
150—
10° o
100f—
10° o
10 50—
S S 1 L1 L Py S R T L1 N P |
0 50 200 250 0 50 100 150 200 250
Tac Real
[VT201 Input Ch2: ZDC Adc Sum Th ] [Entries 3.102864¢+07 [VT201 Input Ch2: ZDC Adc Sum Th (Real-Simu) |
.
1 1.99723e+06 1.80615e+06 1.37137e+06 1.14784e+06
10 I
0
0 1.88135e+06 2.07243e+06
-1
10 — > 1 1
Oy, Fg, oy, s, X ”
i 5 i34, Mgy s, T i CTA o "2 p)/&“'n-,namu
VT201 Input Ch4: VPD Tac Diff , VT201 Input Ch4: VPD Tac Diff
| p | Entries3878580 | p |
.
10 8000 =
« E
7000
10* E
6000 —
10° 5000 —
4000
10? E
3000 —
10 2000 —
1000~
! : 1 1 1 1 1 1 1 1
0 1000 2000 3000 4000 5000 6000 7000 8000 0(. = :ILOOOI — IZDOC: — I3000I — 4I1000I — I5000I — ESOOE; — I7000I — XISOOC
Tac Real
[VvT201 Input Ch4: VPD Adc Sum Th] [Entries 193929¢+07 ] [VT201 Input Ch4: VPD Adc Sum Th(Real-Simu) | Entries 321
10°
30
10
1
1
Mean-TAC Diff W-1 Mean-TAC Diff W-2 Mean-TAC Diff W-3 Mean-TAC Diff W-1 Mean-TAC Diff W-2 Mean-TAC Diff W-3 East West




Entries 3878580

100 120
EPD-East Hit Cnt

Entries 3878580

TOF Mt
o
o

800

600

400

200

11 1 I 11 1
12 14 16
VPD-East Hit Cnt

[y

Entries 3878580

10*
10°
102
10
1

— i
—
I
10*
800
10°
600
l 2
400 0
200 10
1

12 14 16
VPD-West Hit Cnt

100 120
EPD-West Hit Cnt

TOF Mt
o
o

Entries 3878580

10*
10°
10?

10

10*
| 10°
; 10°
10
Pl 1

500 1000 1500 2000 2500 3000 350 4000
ZDC-West ADC Sum Att

L iargd
500 1000 1500 2000 2500 3000 3500 4000
ZDC-East ADC Sum Att



| Entries 3878580 |

= — 10°

£8000[-

(@) —

< L

—7000—

N — 10°

Ll — -
6000|— | 3
5000 | E 10°
4000—

— _ | 2
3000 5 10
2000{— 1

- ! 10
1000—

O :l_ |' 1 1 1 1 | 1 1 1 — | - T"1 1 1 | 1 1 1 1 | 1
0 500 100 1500 2000
ZDC TAC Diff
| Entries 3878580 |
= —

£8000F

O -

=7000—

a) - — 10*

o = —

L - ]
6000 i ]
5000 1~ _ — 10°
4000f— i_

E. — 10
3000 i_ =
2000 [+~

H 10
1000{—

0:"_I 1 1 1 | 1 1 1 1 |"I'| T T : T T T I | I I T T : ™ =—T=1 '| 1 1 1 1 | 1 1 1 1 | l
0 1000 2000 3000 4000 5000 6000 7000 8000

BBC TAC Diff



Entries
hO)
-15 (C
010
I—,
05728e+07
ies 6.2
h Entrie:
F201 0-15 (C 0)
2 F2
_

"o = ~Wop " Cosy,
Eop Mo P
;° e 5 e

1 WD'C""%
0. 0, "”iwok
P2 cop
R gy
1 p&% i
1 pse""’rz
o I : F‘%w'o
MT() rcos
1 P
1 g
Top’m,/,
L %,
"0, 4,
! e e
"0,
WDJM
1
1 Fss%
ops%mru
TCQ
Oy
Dp"’una
op"’“’u
or:%/[a
"o 0 ki
e
M"’Jﬁg
Mm\'hz

_,

_\/Tz 1 1 h1 ntries 6.205728e+07 Entries
hl)

(

01 0-15 (c VT201 0-15 (c
5721 T201 1
ies 6.2
Entri

)
(

|
|
|
|
|
|
|
1
1
20
Ll —
Epp, w

C.r 580 B8cy,, oy, SPo. EPD, C.g, 200 20cy, 20c, rece 7 . Vep,
. Vo,
: Vep.
I . Vep.,
B 5 & & = = I
Min g Cdag T4 A D€
L 2
L ey,
4c w e, & s
20c.,
w 2
3
2
3
Be.,,

V0.
0.7,
Vep. Tacy

Pecaggy
Mi g

g,

20cy,

1
1 1 o
0.7

Bocy,

Boce

B,

ries 6.205728e+07 r 190242
Entries
EM20 [Eniries 190242 ]
5 (C
0-1
201
Entri

10
10*
10°
10°

1 10
0 L1 1 1
1
1
_ 1
1
1
1
71 L1
1
1

U”USeq
Ehiry
Fhiry
U"L’l'eg
l/,-,usEd

U”"S&y

PCtopg
Un"&sq

Un, Useq

U'””eu

Um‘:eq

Bhirg

Bhiry

By, >

Bhr, 7

Bkiry

Un"&sq

Ehiry

Eiry

U"“Seq

sy

Um’seq

*Clop,

U”USeq

U"“Seq

Unu:eﬂ

U"L’Ieg

Bhiry

Bhirg

Bhiry

Bhiry

Bhiry

FP201 0O h 0 FP201 0 h Entries
5)
15 (C
1
ies
Entri
_

1 =
1 1 Um,s@d
U"USB.j
1 ik
1 u,,,,%
1 FMS,DUer
] .
I FMS’Jbl
FMS'JDQ
s " g
M%’ge
‘4%,96 s
Sy, s,
g
s,"a”&s
sema,, s
Z
2
ey
.
ey
1S 0y
FMS Ry
MS Py
MS P2
S 0
Sty 50y
Sarge g on
S’%&B&?
s SSmayg,
Ssmay, 5y
5 (g




	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27


